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2-1DE2+1)22+1)2* +1)(28+1)

=(22-1)22+)2*+ D28+ 1)
2t -1)(2*+1)(28 +1)

= (28-1)(28 +1) =216 -1
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®, @, ®,® (a+b)(a-b)=a>-b>
® (x+a)(x+b)=x*+(a+b)x+ab
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ab=(1+V2)(1-V2)=1-2=-1

a+b=(1+V2)+(1-v2) =2

a-b=(1+V2)-(1-v2)=2v2
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(£ A) =(2-6)(2+6) + (10 - 14)(10 + 14)
+ (18 — 22)(18 + 22)
+ (26 — 30)(26 + 30)
= —4(2+6+10 + 14 + 18 + 22 4 26 + 30)
=—-4x4x32
= -512




6. A=-12422-32442-52+62-72+82-92410% B=9945 &}
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[> = 98900000
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A=-12+22-3%2+42-52 462
-7% 4+ 82 -92 +10?
:(22_12)+(42_32)+
(62 - 52) + (82 - 72) + (102 - 9?)
=2-1)2+1)+(4-3)(4+3)+(6-5)
(64+5)+ (8=7)(8+7) + (10 -9)(10 + 9)
— 34+ 7+11+15+19
= 55

. B2-A%2=(B+A)(B-A)
= (9945 + 55)(9945 — 55)
= 10000 x 9890
= 98900000




